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QUESTION 1

You have a project that requires off-site backup for selected data volumes, but another physical site or system is not
within the current budget.

Which NetApp product would help you to satisfy this requirement?
A. NetApp MetroCluster

B. NetApp FlexArray

C. NetApp ONTAP Cloud

D. NetApp FlexClone

Correct Answer: C

QUESTION 2

You want to set up protection relationships at the time of provisioning one or more primary volumes in the source cluster
in ONTAP.

Which NetApp management tool enables you to accomplish this task?
A. ONTAP CLI

B. SnapCenter

C. OnCommand System Manager

D. OnCommand Unified Manager

Correct Answer: C

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2854936

QUESTION 3

Which two statements are correct about MetroCluster IP requirements for intercluster LIFs? (Choose two.)
A. At least one interface per node is required.

B. Either an IPv6 address or IPv4 address is required.

C. A dedicated network port is required.

D. Jumbo frames are required.

Correct Answer: BC
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QUESTION 4

A client has a 100 GB NFS volume with a 20% Snapshot reserve that hosts several virtual machines on an aggregate
with no additional capacity. There are currently 10 GB of Snapshot copies associated with the past two weeks of
actvivty with the volume. An external monitoring system is reporting that the volume is 99% consumed.

According to NetApp, which action should be used to prevent the volume from going offline?

A. Modify the Snapshot reserve to 10%.

B. Enable storage efficiency on the volume.

C. Expand the aggregate on which the volume resides.

D. Delete Snapshot copies from the volume to free up space.

Correct Answer: C

QUESTION 5

A user\\'s home directory, mounted using NFS, has been encrypted by a ransomware attack. The user asks you to
retrieve the data.

In this scenario, which process would allow you to accomplish this task?
A. Restore the data from a Snapshot copy.

B. Take a new Snapshot copy of the volume.

C. Apply the XDPDefault policy to the volume.

D. Apply the MirrorAllSnapshots policy to the volume.

Correct Answer: A
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